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2HT -1 HIR DAY (BEXK)

< 29 ~ 4 = 7 1 an 64+ 7 = 9
@ 49 - 4 = 12 - ] e 43 + 9 = 4
@ 70+8 =8 - 6 a9 45+ b5 = 9
@ 80 + 4 = 20 o 99 = 7 = 14
(5) 55 - 6 = 9 - 1 en 61 = 2 = 30
© 83+ 4 =20 --- 3 @ 48 + b5 = 9
M 69 - 3 = 23 @ 29+ b6 = b
® 26 —~ 2 = 13 e b7+ 6 = 9
© 21 +=8 =2 - b @ 17+ 7 = 2
o 183+ 9 =1 - 4 2 33+ 8 = 4
an 48 b = 9 .- 3 @7 16 -~ b = 3
a2 20+~ 6 = 38 -+ 2 @ 82 + 6 = 13
1» 36 - 9 = 4 e 91 = 9 = 10
av 15 +=8 = 1 - 7 G 88 + b = 17
(1» 63 + 3 = 21 @ 20+ 8 = 2

(16) 10+ 2 = 5 (32) 3+~ 9 = 3



